Contract No:DH00557

WBS No:BP8.R004.3

County:Moore

Replacement of Bridge No. 47 over Big Governors Creek on SR 1658

(Wadsworth Road)

					BA FRED SMITH		
			1		MPANY		OWE, LLC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$65,000.00	\$65,000.00	\$67,200.00	\$67,200.00
2	Grading	1.00	LS	\$60,000.00	\$60,000.00	\$210,000.00	\$210,000.00
3	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
4	Undercut Excavation	150.00	CY	\$10.00	\$1,500.00	\$30.00	\$4,500.00
5	Drainage Ditch Excavation	41.00	CY	\$35.00	\$1,435.00	\$24.00	\$984.00
6	Select Granular Material	100.00	CY	\$30.00	\$3,000.00	\$1.00	\$100.00
7	Geotextile for Soil Stabilization	100.00	SY	\$3.50	\$350.00	\$1.00	\$100.00
8	Generic Grading Item, Type 1 Bridge Approach Fill, Sta. 20+25.00 -L-	1.00	LS	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00
9	Foundation Conditioning Material, Minor Structures	20.00	Ton	\$25.00	\$500.00	\$1.00	\$20.00
10	Foundation Conditioning Geotextile	40.00	SY	\$2.00	\$80.00	\$1.00	\$40.00
11	15" Drainage Pipe	48.00	LF	\$60.00	\$2,880.00	\$63.00	\$3,024.00
12	15" Drainage Pipe Elbows	4.00	Ea	\$500.00	\$2,000.00	\$650.00	\$2,600.00
13	15" RC Pipe Culverts, Class IV	72.00	LF	\$100.00	\$7,200.00	\$63.00	\$4,536.00
14	Incidental Stone Base	50.00	Ton	\$40.00	\$2,000.00	\$37.00	\$1,850.00
15	Incidental Milling	100.00	SY	\$40.00	\$4,000.00	\$23.00	\$2,300.00
16	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$103.00	\$36,050.00	\$102.00	\$35,700.00
17	Asphalt Concrete Intermediate Course, Type I19.0C	350.00	Ton	\$105.00	\$36,750.00	\$95.00	\$33,250.00
18	Asphalt Concrete Surface Course, Type S9.5B	425.00	Ton	\$110.00	\$46,750.00	\$92.00	\$39,100.00
19	Asphalt Binder for Plant Mix	65.00	Ton	\$650.00	\$42,250.00	\$550.00	\$35,750.00

					BA FRED SMITH MPANY	SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
20	Right-of-Way Markers	12.00	Ea	\$450.00	\$5,400.00	\$325.00	\$3,900.00
21	Subdrain Excavation	11.20	CY	\$1.00	\$11.20	\$1.00	\$11.20
22	Geotextile for Subsurface Drains	50.00	SY	\$1.00	\$50.00	\$1.00	\$50.00
23	Subdrain Coarse Aggregate	8.40	CY	\$1.00	\$8.40	\$1.00	\$8.40
24	6" Perforated Subdrain Pipe	50.00	LF	\$1.00	\$50.00	\$1.00	\$50.00
25	Subdrain Pipe Outlet	1.00	Ea	\$1.00	\$1.00	\$1.00	\$1.00
26	6" Outlet Pipe	6.00	LF	\$1.00	\$6.00	\$1.00	\$6.00
27	Masonry Drainage Structure	3.00	Ea	\$4,000.00	\$12,000.00	\$2,500.00	\$7,500.00
28	Frame with Two Grates, Std 840.29	3.00	Ea	\$1,200.00	\$3,600.00	\$475.00	\$1,425.00
29	Shoulder Berm Gutter	225.00	LF	\$45.00	\$10,125.00	\$42.00	\$9,450.00
30	Steel Beam Guardrail	375.00	LF	\$23.00	\$8,625.00	\$23.00	\$8,625.00
31	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$1.00	\$5.00
32	Guardrail Anchor Units, Type III	4.00	Ea	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00
33	Guardrail End Units, Type TL-3	4.00	Ea	\$3,350.00	\$13,400.00	\$3,350.00	\$13,400.00
34	Rip Rap, Class I	16.00	Ton	\$100.00	\$1,600.00	\$72.00	\$1,152.00
35	Rip Rap, Class II	141.00	Ton	\$65.00	\$9,165.00	\$52.00	\$7,332.00
36	Rip Rap, Class A	17.00	Ton	\$70.00	\$1,190.00	\$72.00	\$1,224.00
37	Rip Rap, Class B	115.00	Ton	\$75.00	\$8,625.00	\$57.00	\$6,555.00
38	Geotextile for Drainage	943.00	SY	\$1.00	\$943.00	\$2.00	\$1,886.00
39	Temporary Traffic Control	1.00	LS	\$6,500.00	\$6,500.00	\$8,700.00	\$8,700.00
40	Paint Pavement Marking Lines (4")	6,800.00	LF	\$1.00	\$6,800.00	\$0.65	\$4,420.00
41	Permanent Raised Pavement Markers	20.00	Ea	\$25.00	\$500.00	\$10.00	\$200.00
42	Temporary Silt Fence	1,485.00	LF	\$3.00	\$4,455.00	\$2.50	\$3,712.50
43	Stone for Erosion Control, Class A	70.00	Ton	\$1.00	\$70.00	\$1.00	\$70.00
44	Stone for Erosion Control, Class B	340.00	Ton	\$15.00	\$5,100.00	\$1.00	\$340.00
45	Sediment Control Stone	185.00	Ton	\$15.00	\$2,775.00	\$1.00	\$185.00
46	Temporary Mulching	2.50	Acre	\$1.00	\$2.50	\$1.00	\$2.50
47	Seed for Temporary Seeding	200.00	LB	\$2.00	\$400.00	\$1.00	\$200.00
48	Fertilizer for Temporary Seeding	1.00	Ton	\$1.00	\$1.00	\$1.00	\$1.00
49	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$1.00	\$200.00
50	Safety Fence	320.00	LF	\$2.85	\$912.00	\$2.00	\$640.00
51	Silt Excavation	530.00	CY	\$1.00	\$530.00	\$2.00	\$1,060.00
52	Matting for Erosion Control	7,390.00	SY	\$0.01	\$73.90	\$1.50	\$11,085.00

					BA FRED SMITH MPANY	SMITH-R	OWE, LLC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
53	Coir Fiber Mat	100.00	SY	\$4.50	\$450.00	\$5.75	\$575.00
54	1/4" Hardware Cloth	295.00	LF	\$4.00	\$1,180.00	\$4.00	\$1,180.00
55	Low Permeability Geotextile	300.00	SY	\$1.00	\$300.00	\$2.50	\$750.00
56	Floating Turbidity Curtain	255.00	SY	\$10.00	\$2,550.00	\$20.00	\$5,100.00
57	Special Stilling Basins	2.00	Ea	\$100.00	\$200.00	\$1.00	\$2.00
58	Flocculant	105.00	LB	\$5.00	\$525.00	\$1.00	\$105.00
59	Wattle	140.00	LF	\$13.50	\$1,890.00	\$8.00	\$1,120.00
60	Seeding & Mulching	3.00	Acre	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00
61	Mowing	3.00	Acre	\$50.00	\$150.00	\$1.00	\$3.00
62	Seed for Repair Seeding	50.00	LB	\$4.10	\$205.00	\$1.00	\$50.00
63	Fertilizer for Repair Seeding	0.25	Ton	\$4.00	\$1.00	\$1.00	\$0.25
64	Seed for Supplemental Seeding	50.00	LB	\$5.00	\$250.00	\$1.00	\$50.00
65	Fertilizer Topdressing	1.50	Ton	\$1.00	\$1.50	\$1.00	\$1.50
66	Impervious Dike	165.00	LF	\$30.00	\$4,950.00	\$30.00	\$4,950.00
67	Specialized Hand Mowing	10.00	Mhr	\$50.00	\$500.00	\$1.00	\$10.00
68	Response for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$1.00	\$19.00
69	Concrete Washout Structure	2.00	Ea	\$350.00	\$700.00	\$500.00	\$1,000.00
70	Generic Erosion Control Item - Fabric Insert Inlet Protection - (Type 1)	5.00	Ea	\$100.00	\$500.00	\$335.00	\$1,675.00
71	Generic Erosion Control Item - Fabric Insert Inlet Protection Cleanout	15.00	Ea	\$50.00	\$750.00	\$200.00	\$3,000.00
72	Removal of Existing Structure at Station 20+25.00 -L-	1.00	LS	\$71,302.50	\$71,302.50	\$102,364.10	\$102,364.10
73	Asbestos Assessment	1.00	LS	\$1,415.00	\$1,415.00	\$700.00	\$700.00
74	Pile Excavation in Soil	45.50	LF	\$550.00	\$25,025.00	\$233.59	\$10,628.35
75	Pile Excavation Not in Soil	24.50	LF	\$600.00	\$14,700.00	\$763.30	\$18,700.85
76	Unclassified Structure Excavation at Station 20+25.00 -L-	1.00	LS	\$27,000.00	\$27,000.00	\$18,000.00	\$18,000.00
77	Class A Concrete (Bridge)	58.00	CY	\$1,400.00	\$81,200.00	\$992.58	\$57,569.64
78	Bridge Approach Slabs, Station 20+25.00 -L-	1.00	LS	\$29,000.00	\$29,000.00	\$32,025.00	\$32,025.00
79	Reinforcing Steel (Bridge)	9,220.00	LB	\$2.50	\$23,050.00	\$1.71	\$15,766.20

<sup>80</sup> HP 1	Driving Equipment Setup for 12 x 53 Steel Piles	QUANTITY 14.00	UNITS	CON UNIT PRICE	MPANY AMOUNT BID	SMITH-R UNIT PRICE	ROWE, LLC AMOUNT BID
80 Pile 1	Driving Equipment Setup for 12 x 53 Steel Piles			UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
<sup>80</sup> HP 1	12 x 53 Steel Piles	14.00					
			Ea	\$750.00	\$10,500.00	\$1.00	\$14.00
81 <b>HP 1</b>	12 x 53 Steel Piles	245.00	LF	\$35.00	\$8,575.00	\$55.53	\$13,604.85
82 Steel	el Pile Points	14.00	Ea	\$200.00	\$2,800.00	\$181.00	\$2,534.00
83 Dyna	namic Pile Testing	1.00	Ea	\$2,150.00	\$2,150.00	\$1.00	\$1.00
84 Vert	rtical Concrete Barrier	210.00	LF	\$185.00	\$38,850.00	\$207.02	\$43,474.20
85 <b>Rip</b> 1	Rap Class II (2'-0" Thick)	675.00	Ton	\$60.00	\$40,500.00	\$50.00	\$33,750.00
86 Geot	otextile for Drainage	751.00	SY	\$1.00	\$751.00	\$2.00	\$1,502.00
87 Elast	stomeric Bearings	1.00	LS	\$5,000.00	\$5,000.00	\$3,250.00	\$3,250.00
1 88 1	" x 3'-3" Prestressed Concrete x Beams	1,155.00	LF	\$408.20	\$471,471.00	\$354.14	\$409,031.70

\$1,313,131.00 \$1,344,358.24

Bidder No. 1: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: S T WOOTEN CORPORATION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: SANFORD CONTRACTORS INC

Bidder No. 6: DELLINGER INC

Bidder No. 7: T A LOVING COMPANY

Bidder No. 8: REEVES CONSTRUCTION

Contract No:DH00557

WBS No:BP8.R004.3

County:Moore

Replacement of Bridge No. 47 over Big Governors Creek on SR 1658

(Wadsworth Road)

				S T WOOTEN C	OR POR ATION	R E BURNS &	z SONS CO INC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$70,000.00	\$70,000.00	\$71,000.00	\$71,000.00
2	Grading	1.00	LS	\$120,500.00	\$120,500.00	\$210,000.00	\$210,000.00
3	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
4	Undercut Excavation	150.00	CY	\$28.00	\$4,200.00	\$30.00	\$4,500.00
5	Drainage Ditch Excavation	41.00	CY	\$45.00	\$1,845.00	\$24.00	\$984.00
6	Select Granular Material	100.00	CY	\$65.00	\$6,500.00	\$1.00	\$100.00
7	Geotextile for Soil Stabilization	100.00	SY	\$6.00	\$600.00	\$1.00	\$100.00
8	Generic Grading Item, Type 1 Bridge Approach Fill, Sta. 20+25.00 -L-	1.00	LS	\$15,750.00	\$15,750.00	\$15,000.00	\$15,000.00
9	Foundation Conditioning Material, Minor Structures	20.00	Ton	\$55.00	\$1,100.00	\$1.00	\$20.00
10	Foundation Conditioning Geotextile	40.00	SY	\$3.00	\$120.00	\$1.00	\$40.00
11	15" Drainage Pipe	48.00	LF	\$147.00	\$7,056.00	\$63.00	\$3,024.00
12	15" Drainage Pipe Elbows	4.00	Ea	\$845.00	\$3,380.00	\$650.00	\$2,600.00
13	15" RC Pipe Culverts, Class IV	72.00	LF	\$122.00	\$8,784.00	\$63.00	\$4,536.00
14	Incidental Stone Base	50.00	Ton	\$37.00	\$1,850.00	\$37.00	\$1,850.00
15	Incidental Milling	100.00	SY	\$65.00	\$6,500.00	\$23.00	\$2,300.00
16	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$102.00	\$35,700.00	\$125.00	\$43,750.00
17	Asphalt Concrete Intermediate Course, Type I19.0C	350.00	Ton	\$95.00	\$33,250.00	\$125.00	\$43,750.00
18	Asphalt Concrete Surface Course, Type S9.5B	425.00	Ton	\$92.00	\$39,100.00	\$100.00	\$42,500.00
19	Asphalt Binder for Plant Mix	65.00	Ton	\$550.00	\$35,750.00	\$650.00	\$42,250.00

				S T WOOTEN	CORPORATION	R E BURNS &	SONS CO INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
20	Right-of-Way Markers	12.00	Ea	\$350.00	\$4,200.00	\$200.00	\$2,400.00
21	Subdrain Excavation	11.20	CY	\$17.00	\$190.40	\$1.00	\$11.20
22	Geotextile for Subsurface Drains	50.00	SY	\$2.97	\$148.50	\$1.00	\$50.00
23	Subdrain Coarse Aggregate	8.40	CY	\$52.00	\$436.80	\$1.00	\$8.40
24	6" Perforated Subdrain Pipe	50.00	LF	\$10.00	\$500.00	\$1.00	\$50.00
25	Subdrain Pipe Outlet	1.00	Ea	\$325.00	\$325.00	\$1.00	\$1.00
26	6" Outlet Pipe	6.00	LF	\$22.00	\$132.00	\$1.00	\$6.00
27	Masonry Drainage Structure	3.00	Ea	\$6,850.00	\$20,550.00	\$2,500.00	\$7,500.00
28	Frame with Two Grates, Std 840.29	3.00	Ea	\$640.00	\$1,920.00	\$475.00	\$1,425.00
29	Shoulder Berm Gutter	225.00	LF	\$45.00	\$10,125.00	\$65.00	\$14,625.00
30	Steel Beam Guardrail	375.00	LF	\$22.00	\$8,250.00	\$23.00	\$8,625.00
31	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$1.00	\$5.00
32	Guardrail Anchor Units, Type III	4.00	Ea	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00
33	Guardrail End Units, Type TL-3	4.00	Ea	\$3,350.00	\$13,400.00	\$3,350.00	\$13,400.00
34	Rip Rap, Class I	16.00	Ton	\$77.00	\$1,232.00	\$72.00	\$1,152.00
35	Rip Rap, Class II	141.00	Ton	\$77.50	\$10,927.50	\$52.00	\$7,332.00
36	Rip Rap, Class A	17.00	Ton	\$73.00	\$1,241.00	\$72.00	\$1,224.00
37	Rip Rap, Class B	115.00	Ton	\$74.00	\$8,510.00	\$57.00	\$6,555.00
38	Geotextile for Drainage	943.00	SY	\$7.50	\$7,072.50	\$2.00	\$1,886.00
39	Temporary Traffic Control	1.00	LS	\$5,300.00	\$5,300.00	\$6,235.00	\$6,235.00
40	Paint Pavement Marking Lines (4")	6,800.00	LF	\$0.65	\$4,420.00	\$0.65	\$4,420.00
41	Permanent Raised Pavement Markers	20.00	Ea	\$10.00	\$200.00	\$10.00	\$200.00
42	Temporary Silt Fence	1,485.00	LF	\$3.75	\$5,568.75	\$2.50	\$3,712.50
43	Stone for Erosion Control, Class A	70.00	Ton	\$73.00	\$5,110.00	\$1.00	\$70.00
44	Stone for Erosion Control, Class B	340.00	Ton	\$74.00	\$25,160.00	\$1.00	\$340.00
45	Sediment Control Stone	185.00	Ton	\$65.00	\$12,025.00	\$1.00	\$185.00
46	Temporary Mulching	2.50	Acre	\$1,400.00	\$3,500.00	\$1.00	\$2.50
47	Seed for Temporary Seeding	200.00	LB	\$3.50	\$700.00	\$1.00	\$200.00
48	Fertilizer for Temporary Seeding	1.00	Ton	\$1,400.00	\$1,400.00	\$1.00	\$1.00
49	Temporary Slope Drains	200.00	LF	\$20.00	\$4,000.00	\$1.00	\$200.00
50	Safety Fence	320.00	LF	\$2.75	\$880.00	\$2.00	\$640.00
51	Silt Excavation	530.00	CY	\$4.00	\$2,120.00	\$1.00	\$530.00
52	Matting for Erosion Control	7,390.00	SY	\$1.65	\$12,193.50	\$1.50	\$11,085.00

				S T WOOTEN	CORPORATION	R E BURNS & SONS CO INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
53	Coir Fiber Mat	100.00	SY	\$4.95	\$495.00	\$5.75	\$575.00
54	1/4" Hardware Cloth	295.00	LF	\$3.95	\$1,165.25	\$4.00	\$1,180.00
55	Low Permeability Geotextile	300.00	SY	\$3.00	\$900.00	\$2.50	\$750.00
56	Floating Turbidity Curtain	255.00	SY	\$41.00	\$10,455.00	\$20.00	\$5,100.00
57	Special Stilling Basins	2.00	Ea	\$575.00	\$1,150.00	\$140.00	\$280.00
58	Flocculant	105.00	LB	\$20.00	\$2,100.00	\$1.00	\$105.00
59	Wattle	140.00	LF	\$15.00	\$2,100.00	\$8.00	\$1,120.00
60	Seeding & Mulching	3.00	Acre	\$2,775.00	\$8,325.00	\$1,200.00	\$3,600.00
61	Mowing	3.00	Acre	\$300.00	\$900.00	\$1.00	\$3.00
62	Seed for Repair Seeding	50.00	LB	\$15.00	\$750.00	\$1.00	\$50.00
63	Fertilizer for Repair Seeding	0.25	Ton	\$1,400.00	\$350.00	\$1.00	\$0.25
64	Seed for Supplemental Seeding	50.00	LB	\$12.00	\$600.00	\$1.00	\$50.00
65	Fertilizer Topdressing	1.50	Ton	\$1,400.00	\$2,100.00	\$1.00	\$1.50
66	Impervious Dike	165.00	LF	\$115.00	\$18,975.00	\$30.00	\$4,950.00
67	Specialized Hand Mowing	10.00	Mhr	\$95.00	\$950.00	\$1.00	\$10.00
68	Response for Erosion Control	19.00	Ea	\$60.00	\$1,140.00	\$1.00	\$19.00
69	Concrete Washout Structure	2.00	Ea	\$1,340.00	\$2,680.00	\$1,000.00	\$2,000.00
70	Generic Erosion Control Item - Fabric Insert Inlet Protection - (Type 1)	5.00	Ea	\$100.00	\$500.00	\$200.00	\$1,000.00
71	Generic Erosion Control Item - Fabric Insert Inlet Protection Cleanout	15.00	Ea	\$100.00	\$1,500.00	\$100.00	\$1,500.00
72	Removal of Existing Structure at Station 20+25.00 -L-	1.00	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
73	Asbestos Assessment	1.00	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00
74	Pile Excavation in Soil	45.50	LF	\$640.00	\$29,120.00	\$400.00	\$18,200.00
75	Pile Excavation Not in Soil	24.50	LF	\$640.00	\$15,680.00	\$400.00	\$9,800.00
76	Unclassified Structure Excavation at Station 20+25.00 -L-	1.00	LS	\$11,875.00	\$11,875.00	\$19,380.00	\$19,380.00
77	Class A Concrete (Bridge)	58.00	CY	\$890.00	\$51,620.00	\$1,580.00	\$91,640.00
78	Bridge Approach Slabs, Station 20+25.00 -L-	1.00	LS	\$28,000.00	\$28,000.00	\$25,000.00	\$25,000.00
79	Reinforcing Steel (Bridge)	9,220.00	LB	\$1.35	\$12,447.00	\$2.15	\$19,823.00

				S T WOOTEN	CORPORATION	R E BURNS &	& SONS CO INC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
80	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$1,000.00	\$14,000.00	\$1.00	\$14.00
81	HP 12 x 53 Steel Piles	245.00	LF	\$85.00	\$20,825.00	\$39.00	\$9,555.00
82	Steel Pile Points	14.00	Ea	\$188.00	\$2,632.00	\$200.00	\$2,800.00
83	Dynamic Pile Testing	1.00	Ea	\$4,500.00	\$4,500.00	\$2,150.00	\$2,150.00
84	Vertical Concrete Barrier	210.00	LF	\$173.00	\$36,330.00	\$210.00	\$44,100.00
85	Rip Rap Class II (2'-0" Thick)	675.00	Ton	\$60.00	\$40,500.00	\$50.00	\$33,750.00
86	Geotextile for Drainage	751.00	SY	\$5.00	\$3,755.00	\$2.00	\$1,502.00
87	Elastomeric Bearings	1.00	LS	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00
1 88	3'-0" x 3'-3" Prestressed Concrete Box Beams	1,155.00	LF	\$400.00	\$462,000.00	\$420.00	\$485,100.00

\$1,417,198.20 \$1,434,289.35

Bidder No. 1: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: S T WOOTEN CORPORATION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: SANFORD CONTRACTORS INC

Bidder No. 6: DELLINGER INC

Bidder No. 7: T A LOVING COMPANY

Bidder No. 8: REEVES CONSTRUCTION

Contract No:DH00557

WBS No:BP8.R004.3

County:Moore

Replacement of Bridge No. 47 over Big Governors Creek on SR 1658

(Wadsworth Road)

				SANFORD CON	TRACTORS INC	DELLIN	GER INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$72,340.00	\$72,340.00	\$72,000.00	\$72,000.00
2	Grading	1.00	LS	\$210,000.00	\$210,000.00	\$122,000.00	\$122,000.00
3	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
4	Undercut Excavation	150.00	CY	\$30.00	\$4,500.00	\$1.00	\$150.00
5	Drainage Ditch Excavation	41.00	CY	\$24.00	\$984.00	\$15.00	\$615.00
6	Select Granular Material	100.00	CY	\$1.00	\$100.00	\$1.00	\$100.00
7	Geotextile for Soil Stabilization	100.00	SY	\$1.00	\$100.00	\$3.80	\$380.00
8	Generic Grading Item, Type 1 Bridge Approach Fill, Sta. 20+25.00 -L-	1.00	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
9	Foundation Conditioning Material, Minor Structures	20.00	Ton	\$1.00	\$20.00	\$1.00	\$20.00
10	Foundation Conditioning Geotextile	40.00	SY	\$1.00	\$40.00	\$0.01	\$0.40
11	15" Drainage Pipe	48.00	LF	\$63.00	\$3,024.00	\$70.00	\$3,360.00
12	15" Drainage Pipe Elbows	4.00	Ea	\$650.00	\$2,600.00	\$400.00	\$1,600.00
13	15" RC Pipe Culverts, Class IV	72.00	LF	\$63.00	\$4,536.00	\$98.00	\$7,056.00
14	Incidental Stone Base	50.00	Ton	\$37.00	\$1,850.00	\$30.00	\$1,500.00
15	Incidental Milling	100.00	SY	\$23.00	\$2,300.00	\$48.00	\$4,800.00
16	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$102.00	\$35,700.00	\$102.00	\$35,700.00
17	Asphalt Concrete Intermediate Course, Type I19.0C	350.00	Ton	\$95.00	\$33,250.00	\$95.00	\$33,250.00
18	Asphalt Concrete Surface Course, Type S9.5B	425.00	Ton	\$92.00	\$39,100.00	\$92.00	\$39,100.00
19	Asphalt Binder for Plant Mix	65.00	Ton	\$550.00	\$35,750.00	\$550.00	\$35,750.00

				SANFORD CONTRACTORS INC		DELLINGER INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
20	Right-of-Way Markers	12.00	Ea	\$314.37	\$3,772.44	\$450.00	\$5,400.00
21	Subdrain Excavation	11.20	CY	\$1.00	\$11.20	\$1.00	\$11.20
22	Geotextile for Subsurface Drains	50.00	SY	\$1.00	\$50.00	\$0.10	\$5.00
23	Subdrain Coarse Aggregate	8.40	CY	\$1.00	\$8.40	\$1.00	\$8.40
24	6" Perforated Subdrain Pipe	50.00	LF	\$1.00	\$50.00	\$1.00	\$50.00
25	Subdrain Pipe Outlet	1.00	Ea	\$1.00	\$1.00	\$1.00	\$1.00
26	6" Outlet Pipe	6.00	LF	\$1.00	\$6.00	\$1.00	\$6.00
27	Masonry Drainage Structure	3.00	Ea	\$2,500.00	\$7,500.00	\$2,600.00	\$7,800.00
28	Frame with Two Grates, Std 840.29	3.00	Ea	\$475.00	\$1,425.00	\$1,200.00	\$3,600.00
29	Shoulder Berm Gutter	225.00	LF	\$93.51	\$21,039.75	\$50.00	\$11,250.00
30	Steel Beam Guardrail	375.00	LF	\$23.00	\$8,625.00	\$23.00	\$8,625.00
31	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$11.00	\$55.00
32	Guardrail Anchor Units, Type III	4.00	Ea	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00
33	Guardrail End Units, Type TL-3	4.00	Ea	\$3,350.00	\$13,400.00	\$3,350.00	\$13,400.00
34	Rip Rap, Class I	16.00	Ton	\$72.00	\$1,152.00	\$47.00	\$752.00
35	Rip Rap, Class II	141.00	Ton	\$52.00	\$7,332.00	\$52.00	\$7,332.00
36	Rip Rap, Class A	17.00	Ton	\$72.00	\$1,224.00	\$45.00	\$765.00
37	Rip Rap, Class B	115.00	Ton	\$57.00	\$6,555.00	\$46.00	\$5,290.00
38	Geotextile for Drainage	943.00	SY	\$2.00	\$1,886.00	\$4.00	\$3,772.00
39	Temporary Traffic Control	1.00	LS	\$6,000.00	\$6,000.00	\$5,671.00	\$5,671.00
40	Paint Pavement Marking Lines (4")	6,800.00	LF	\$0.65	\$4,420.00	\$0.65	\$4,420.00
41	Permanent Raised Pavement Markers	20.00	Ea	\$10.00	\$200.00	\$10.00	\$200.00
42	Temporary Silt Fence	1,485.00	LF	\$2.50	\$3,712.50	\$3.50	\$5,197.50
43	Stone for Erosion Control, Class A	70.00	Ton	\$1.00	\$70.00	\$45.00	\$3,150.00
44	Stone for Erosion Control, Class B	340.00	Ton	\$1.00	\$340.00	\$47.00	\$15,980.00
45	Sediment Control Stone	185.00	Ton	\$1.00	\$185.00	\$36.00	\$6,660.00
46	Temporary Mulching	2.50	Acre	\$1.00	\$2.50	\$1,750.00	\$4,375.00
47	Seed for Temporary Seeding	200.00	LB	\$1.00	\$200.00	\$1.00	\$200.00
48	Fertilizer for Temporary Seeding	1.00	Ton	\$1.00	\$1.00	\$750.00	\$750.00
49	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$1.00	\$200.00
50	Safety Fence	320.00	LF	\$2.00	\$640.00	\$3.00	\$960.00
51	Silt Excavation	530.00	CY	\$2.00	\$1,060.00	\$13.00	\$6,890.00
52	Matting for Erosion Control	7,390.00	SY	\$1.50	\$11,085.00	\$2.50	\$18,475.00

				SANFORD COM	NTRACTORS INC	DELLIN	IGER INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
53	Coir Fiber Mat	100.00	SY	\$5.75	\$575.00	\$4.50	\$450.00
54	1/4" Hardware Cloth	295.00	LF	\$4.00	\$1,180.00	\$3.50	\$1,032.50
55	Low Permeability Geotextile	300.00	SY	\$2.50	\$750.00	\$7.00	\$2,100.00
56	Floating Turbidity Curtain	255.00	SY	\$20.00	\$5,100.00	\$47.50	\$12,112.50
57	Special Stilling Basins	2.00	Ea	\$1,042.00	\$2,084.00	\$500.00	\$1,000.00
58	Flocculant	105.00	LB	\$1.00	\$105.00	\$1.00	\$105.00
59	Wattle	140.00	LF	\$8.00	\$1,120.00	\$16.00	\$2,240.00
60	Seeding & Mulching	3.00	Acre	\$1,200.00	\$3,600.00	\$3,500.00	\$10,500.00
61	Mowing	3.00	Acre	\$1.00	\$3.00	\$750.00	\$2,250.00
62	Seed for Repair Seeding	50.00	LB	\$1.00	\$50.00	\$2.00	\$100.00
63	Fertilizer for Repair Seeding	0.25	Ton	\$1.00	\$0.25	\$750.00	\$187.50
64	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$2.00	\$100.00
65	Fertilizer Topdressing	1.50	Ton	\$1.00	\$1.50	\$750.00	\$1,125.00
66	Impervious Dike	165.00	LF	\$30.00	\$4,950.00	\$55.00	\$9,075.00
67	Specialized Hand Mowing	10.00	Mhr	\$1.00	\$10.00	\$80.00	\$800.00
68	Response for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$50.00	\$950.00
69	Concrete Washout Structure	2.00	Ea	\$500.00	\$1,000.00	\$350.00	\$700.00
70	Generic Erosion Control Item - Fabric Insert Inlet Protection - (Type 1)	5.00	Ea	\$335.00	\$1,675.00	\$250.00	\$1,250.00
71	Generic Erosion Control Item - Fabric Insert Inlet Protection Cleanout	15.00	Ea	\$200.00	\$3,000.00	\$100.00	\$1,500.00
72	Removal of Existing Structure at Station 20+25.00 -L-	1.00	LS	\$17,000.00	\$17,000.00	\$70,000.00	\$70,000.00
73	Asbestos Assessment	1.00	LS	\$700.00	\$700.00	\$700.00	\$700.00
74	Pile Excavation in Soil	45.50	LF	\$475.00	\$21,612.50	\$425.00	\$19,337.50
75	Pile Excavation Not in Soil	24.50	LF	\$475.00	\$11,637.50	\$425.00	\$10,412.50
76	Unclassified Structure Excavation at Station 20+25.00 -L-	1.00	LS	\$18,000.00	\$18,000.00	\$7,000.00	\$7,000.00
77	Class A Concrete (Bridge)	58.00	CY	\$3,000.00	\$174,000.00	\$1,600.00	\$92,800.00
78	Bridge Approach Slabs, Station 20+25.00 -L-	1.00	LS	\$52,498.63	\$52,498.63	\$30,000.00	\$30,000.00
79	Reinforcing Steel (Bridge)	9,220.00	LB	\$0.95	\$8,759.00	\$1.50	\$13,830.00

				SANFORD CO	NTRACTORS INC	DELLI	NGER INC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$2,500.00	\$35,000.00	\$2,500.00	\$35,000.00
81	HP 12 x 53 Steel Piles	245.00	LF	\$53.31	\$13,060.95	\$40.89	\$10,018.05
82	<b>Steel Pile Points</b>	14.00	Ea	\$176.55	\$2,471.70	\$125.73	\$1,760.22
83	Dynamic Pile Testing	1.00	Ea	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
84	Vertical Concrete Barrier	210.00	LF	\$212.37	\$44,597.70	\$215.00	\$45,150.00
85	Rip Rap Class II (2'-0" Thick)	675.00	Ton	\$50.00	\$33,750.00	\$52.00	\$35,100.00
86	Geotextile for Drainage	751.00	SY	\$2.00	\$1,502.00	\$4.00	\$3,004.00
87	Elastomeric Bearings	1.00	LS	\$2,924.58	\$2,924.58	\$6,000.00	\$6,000.00
1 88	3'-0" x 3'-3" Prestressed Concrete Box Beams	1,155.00	LF	\$354.38	\$409,308.90	\$449.00	\$518,595.00

\$1,446,800.00 \$1,472,218.27

Bidder No. 1: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: S T WOOTEN CORPORATION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: SANFORD CONTRACTORS INC

Bidder No. 6: DELLINGER INC

Bidder No. 7: T A LOVING COMPANY

Bidder No. 8: REEVES CONSTRUCTION

Contract No:DH00557

WBS No:BP8.R004.3

County:Moore

Replacement of Bridge No. 47 over Big Governors Creek on SR 1658

(Wadsworth Road)

						REEVES CONSTRUCTION	
ITEM NO ITEM		OLI A NITRITI	LDUTE	T A LOVING COMPANY UNIT PRICE AMOUNT BID		COMPANY	
ITEM NO		QUANTITY 1.00	UNITS			UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$83,000.00	\$83,000.00	\$93,000.00	\$93,000.00
2	Grading	1.00	LS	\$276,781.40	\$276,781.40	\$200,000.00	\$200,000.00
3	Supplementary Clearing & Grubbing	1.00	Acre	\$0.01	\$0.01	\$1.00	\$1.00
4	Undercut Excavation	150.00	CY	\$0.01	\$1.50	\$34.00	\$5,100.00
5	Drainage Ditch Excavation	41.00	CY	\$15.00	\$615.00	\$56.00	\$2,296.00
6	Select Granular Material	100.00	CY	\$0.01	\$1.00	\$71.00	\$7,100.00
7	Geotextile for Soil Stabilization	100.00	SY	\$0.01	\$1.00	\$4.30	\$430.00
8	Generic Grading Item, Type 1 Bridge Approach Fill, Sta. 20+25.00 -L-	1.00	LS	\$20,000.00	\$20,000.00	\$26,000.00	\$26,000.00
9	Foundation Conditioning Material, Minor Structures	20.00	Ton	\$50.00	\$1,000.00	\$39.35	\$787.00
10	Foundation Conditioning Geotextile	40.00	SY	\$1.00	\$40.00	\$4.30	\$172.00
11	15" Drainage Pipe	48.00	LF	\$25.00	\$1,200.00	\$100.00	\$4,800.00
12	15" Drainage Pipe Elbows	4.00	Ea	\$300.00	\$1,200.00	\$500.00	\$2,000.00
13	15" RC Pipe Culverts, Class IV	72.00	LF	\$50.00	\$3,600.00	\$134.00	\$9,648.00
14	Incidental Stone Base	50.00	Ton	\$60.00	\$3,000.00	\$29.50	\$1,475.00
15	Incidental Milling	100.00	SY	\$63.00	\$6,300.00	\$48.00	\$4,800.00
16	Asphalt Concrete Base Course, Type B25.0C	350.00	Ton	\$102.00	\$35,700.00	\$102.00	\$35,700.00
17	Asphalt Concrete Intermediate Course, Type I19.0C	350.00	Ton	\$95.00	\$33,250.00	\$95.00	\$33,250.00
18	Asphalt Concrete Surface Course, Type S9.5B	425.00	Ton	\$92.00	\$39,100.00	\$92.00	\$39,100.00
19	Asphalt Binder for Plant Mix	65.00	Ton	\$550.00	\$35,750.00	\$550.00	\$35,750.00

				REEVES CONSTRU			
ITEM NO	ITEM	T A LOVING COMPANY  ITEM QUANTITY UNITS UNIT PRICE AMOUNT		AMOUNT BID	COM UNIT PRICE	PANY AMOUNT BID	
_		12.00	Ea	\$150.00	\$1,800.00	\$150.00	\$1,800.00
	Right-of-Way Markers Subdrain Excavation			\$130.00	\$1,800.00	\$130.00	\$1,800.00
21		11.20	CY	· ·			
22	Geotextile for Subsurface Drains	50.00	SY	\$2.00	\$100.00	\$5.00	\$250.00
23	Subdrain Coarse Aggregate	8.40	CY	\$0.01	\$0.08	\$75.00	\$630.00
24	6" Perforated Subdrain Pipe	50.00	LF	\$0.01	\$0.50	\$25.00	\$1,250.00
	Subdrain Pipe Outlet	1.00	Ea	\$0.01	\$0.01	\$250.00	\$250.00
	6" Outlet Pipe	6.00	LF	\$0.01	\$0.06	\$40.00	\$240.00
27	Masonry Drainage Structure	3.00	Ea	\$1,000.00	\$3,000.00	\$6,000.00	\$18,000.00
28	Frame with Two Grates, Std 840.29	3.00	Ea	\$500.00	\$1,500.00	\$4,000.00	\$12,000.00
29	Shoulder Berm Gutter	225.00	LF	\$40.00	\$9,000.00	\$75.00	\$16,875.00
30	Steel Beam Guardrail	375.00	LF	\$23.00	\$8,625.00	\$32.00	\$12,000.00
31	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$25.00	\$125.00
32	Guardrail Anchor Units, Type III	4.00	Ea	\$2,200.00	\$8,800.00	\$2,900.00	\$11,600.00
33	Guardrail End Units, Type TL-3	4.00	Ea	\$3,350.00	\$13,400.00	\$3,990.00	\$15,960.00
34	Rip Rap, Class I	16.00	Ton	\$43.00	\$688.00	\$51.00	\$816.00
35	Rip Rap, Class II	141.00	Ton	\$120.00	\$16,920.00	\$59.00	\$8,319.00
36	Rip Rap, Class A	17.00	Ton	\$37.50	\$637.50	\$51.00	\$867.00
37	Rip Rap, Class B	115.00	Ton	\$39.00	\$4,485.00	\$51.00	\$5,865.00
38	Geotextile for Drainage	943.00	SY	\$2.00	\$1,886.00	\$4.30	\$4,054.90
39	Temporary Traffic Control	1.00	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
40	Paint Pavement Marking Lines (4")	6,800.00	LF	\$0.65	\$4,420.00	\$1.00	\$6,800.00
41	Permanent Raised Pavement Markers	20.00	Ea	\$10.00	\$200.00	\$25.00	\$500.00
42	<b>Temporary Silt Fence</b>	1,485.00	LF	\$3.74	\$5,553.90	\$4.75	\$7,053.75
43	Stone for Erosion Control, Class A	70.00	Ton	\$37.50	\$2,625.00	\$51.00	\$3,570.00
44	Stone for Erosion Control, Class B	340.00	Ton	\$39.00	\$13,260.00	\$51.00	\$17,340.00
45	Sediment Control Stone	185.00	Ton	\$31.00	\$5,735.00	\$40.00	\$7,400.00
46	Temporary Mulching	2.50	Acre	\$1,605.00	\$4,012.50	\$1,400.00	\$3,500.00
47	Seed for Temporary Seeding	200.00	LB	\$2.00	\$400.00	\$3.50	\$700.00
48	Fertilizer for Temporary Seeding	1.00	Ton	\$1,092.00	\$1,092.00	\$1,400.00	\$1,400.00
49	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$25.00	\$5,000.00
50	Safety Fence	320.00	LF	\$2.85	\$912.00	\$2.75	\$880.00
51	Silt Excavation	530.00	CY	\$5.00	\$2,650.00	\$30.00	\$15,900.00
-	Matting for Erosion Control	7,390.00	SY	\$0.01	\$73.90	\$1.65	\$12,193.50

				T A LOVING COMPANY		REEVES CONSTRUCTION COMPANY	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
53	Coir Fiber Mat	100.00	SY	\$4.36	\$436.00	\$4.95	\$495.00
54	1/4" Hardware Cloth	295.00	LF	\$4.75	\$1,401.25	\$3.95	\$1,165.25
55	Low Permeability Geotextile	300.00	SY	\$5.00	\$1,500.00	\$4.30	\$1,290.00
56	Floating Turbidity Curtain	255.00	SY	\$16.05	\$4,092.75	\$50.00	\$12,750.00
57	<b>Special Stilling Basins</b>	2.00	Ea	\$100.00	\$200.00	\$1,650.00	\$3,300.00
58	Flocculant	105.00	LB	\$20.00	\$2,100.00	\$20.00	\$2,100.00
59	Wattle	140.00	LF	\$13.50	\$1,890.00	\$15.00	\$2,100.00
60	Seeding & Mulching	3.00	Acre	\$0.01	\$0.03	\$2,775.00	\$8,325.00
61	Mowing	3.00	Acre	\$295.00	\$885.00	\$3,000.00	\$9,000.00
62	Seed for Repair Seeding	50.00	LB	\$4.15	\$207.50	\$15.00	\$750.00
63	Fertilizer for Repair Seeding	0.25	Ton	\$1,092.00	\$273.00	\$1,400.00	\$350.00
64	Seed for Supplemental Seeding	50.00	LB	\$4.98	\$249.00	\$12.00	\$600.00
65	Fertilizer Topdressing	1.50	Ton	\$1,092.00	\$1,638.00	\$1,400.00	\$2,100.00
66	Impervious Dike	165.00	LF	\$1.00	\$165.00	\$49.50	\$8,167.50
67	Specialized Hand Mowing	10.00	Mhr	\$75.00	\$750.00	\$95.00	\$950.00
68	Response for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$600.00	\$11,400.00
69	Concrete Washout Structure	2.00	Ea	\$250.00	\$500.00	\$1,350.00	\$2,700.00
70	Generic Erosion Control Item - Fabric Insert Inlet Protection - (Type 1)	5.00	Ea	\$100.00	\$500.00	\$300.00	\$1,500.00
71	Generic Erosion Control Item - Fabric Insert Inlet Protection Cleanout	15.00	Ea	\$10.00	\$150.00	\$300.00	\$4,500.00
72	Removal of Existing Structure at Station 20+25.00 -L-	1.00	LS	\$94,000.00	\$94,000.00	\$85,515.00	\$85,515.00
73	Asbestos Assessment	1.00	LS	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00
74	Pile Excavation in Soil	45.50	LF	\$475.00	\$21,612.50	\$500.00	\$22,750.00
75	Pile Excavation Not in Soil	24.50	LF	\$475.00	\$11,637.50	\$500.00	\$12,250.00
76	Unclassified Structure Excavation at Station 20+25.00 -L-	1.00	LS	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
77	Class A Concrete (Bridge)	58.00	CY	\$1,900.00	\$110,200.00	\$2,000.00	\$116,000.00
78	Bridge Approach Slabs, Station 20+25.00 -L-	1.00	LS	\$60,000.00	\$60,000.00	\$45,000.00	\$45,000.00
79	Reinforcing Steel (Bridge)	9,220.00	LB	\$1.00	\$9,220.00	\$2.43	\$22,404.60

						REEVES CONSTRUCTION	
				T A LOVING COMPANY		COMPANY	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
80	Pile Driving Equipment Setup for	14.00	Ea	\$5,500.00	\$77,000.00	\$1,200.00	\$16,800.00
80	HP 12 x 53 Steel Piles	14.00	ьа	\$5,500.00	\$77,000.00	\$1,200.00	\$10,800.00
81	HP 12 x 53 Steel Piles	245.00	LF	\$50.00	\$12,250.00	\$78.00	\$19,110.00
82	Steel Pile Points	14.00	Ea	\$175.00	\$2,450.00	\$200.00	\$2,800.00
83	Dynamic Pile Testing	1.00	Ea	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00
84	Vertical Concrete Barrier	210.00	LF	\$225.00	\$47,250.00	\$185.00	\$38,850.00
85	Rip Rap Class II (2'-0" Thick)	675.00	Ton	\$100.00	\$67,500.00	\$78.00	\$52,650.00
86	Geotextile for Drainage	751.00	SY	\$2.00	\$1,502.00	\$5.75	\$4,318.25
87	Elastomeric Bearings	1.00	LS	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
88	3'-0" x 3'-3" Prestressed Concrete Box Beams	1,155.00	LF	\$390.00	\$450,450.00	\$530.00	\$612,150.00
					01 (01 100 01		Φ1 0 <b>53 540 55</b>

\$1,684,100.01 \$1,872,748.75

Bidder No. 1: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: S T WOOTEN CORPORATION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: SANFORD CONTRACTORS INC

Bidder No. 6: DELLINGER INC

Bidder No. 7: T A LOVING COMPANY

Bidder No. 8: REEVES CONSTRUCTION